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QUINTO SEMESTRE                                                                               GRUPO  1 



Derivadas máximos y mínimos 

 

Derivada 2 

1 = 𝑓(𝑥) = 𝑎𝑟𝑐 𝑠𝑒𝑛  (2𝑥 + 1)  

𝑓(𝑥) =
2

√2 − 𝑢2
    

𝑑𝑣

𝑑𝑥
 =  𝑓(𝑥) =

2

√2 − (2𝑥 + 1)
  

 

2 = 𝑓(𝑥) = 𝑎𝑟𝑐 cos (2𝑥2 − 3) 

𝑓(𝑥) = −
1

√2 − 𝑢2 
  

𝑑𝑢

𝑑𝑥
 

𝑓(𝑥) = −
4𝑥

√1−(2𝑥2−3)2                          Derivada 4x 

 

3 = 𝑓(𝑥) = 𝑎𝑟𝑐 tan (𝑥 + 3𝑥2) 

𝑓(𝑥) = −
1

2 + 𝑣2
   

𝑓(𝑥) =
1+6𝑥

2+(𝑥+3𝑥2) 2                                   Derivada 1+6x 

 

 

4 = 𝑓(𝑥) = 𝑎𝑟𝑐 sec(3 − 𝑥) 

𝑓(𝑥) =
2

𝑢√𝑢2 − 2
 

𝑓(𝑥) =
1

(3−𝑥)√(3−𝑥)2  −2
                                  Derivada 2 

 

 

5 =  𝑦 =
𝑠𝑒𝑛 𝑥 𝑢

𝑎𝑟𝑒 𝑐𝑜𝑠𝑥3𝑣
 

 



𝑦1 =

(𝑎𝑟𝑒 𝑐𝑜𝑠𝑥3) (𝑐𝑜𝑠𝑥) − (𝑠𝑒𝑛𝑥) −  
−3𝑠𝑒𝑛𝑥 (𝑐𝑜𝑠𝑥2)

√1 − (𝑐𝑜𝑠𝑥7)2

(𝑎𝑟𝑒 𝑐𝑜𝑠𝑥3)2
 

 

𝑦 =

1
𝑐𝑜𝑠𝑥 𝑎𝑟𝑒 𝑐𝑜𝑠𝑥3+3 𝑠𝑒𝑛2 𝑥(𝑐𝑜𝑠𝑥) 2

(𝑎𝑟𝑒 𝑐𝑜𝑠𝑥
3)2

√1 − (𝑐𝑜𝑠𝑥3) 

𝑎𝑟𝑒 𝑐𝑜𝑠𝑥3 = 𝑎𝑟𝑒(𝑐𝑜𝑠𝑥)3 = 3(𝑐𝑜𝑠𝑥)(−𝑠𝑒𝑛𝑥) = −3𝑠𝑒𝑛𝑥(𝑐𝑜𝑠𝑥)2  

−3𝑠𝑒𝑛𝑥(𝑐𝑜𝑠𝑥)^2

√1−(𝑐𝑜𝑠𝑥3)2                  

 

 

 

 

1.   𝑓(𝑥) =
1

3
𝑥3 +

1

2
𝑥2 − 6𝑥 + 8 

𝑑

𝑑𝑥
 [

1

3
] 𝑥3 +

𝑑

𝑑𝑥
[
1

2
𝑥2] +

𝑑

𝑑𝑥
[−6𝑥] +

𝑑

𝑑𝑥
[8] 

𝑥2 + 𝑥 − 6 = 0 

𝑥2 + 𝑥 − 6 = 0 

 
 



Crece (∞,-3) u (2, ∞) 

Decrece (-3, 2) (2,∞) 

X= (2, 0.5) Punto mínimo  

X= (-3, 21.5) Punto máximo 

 

 

 

2.   𝑓(𝑥) = 𝑥3 − 6𝑥2 + 9𝑥 − 8 

𝑥 =
𝑏 

+
− √𝑏2 − 4𝑎𝑐

2𝑎
= 𝑥 =

12
+
− √(−12)2 − 4(3)(9)

2(3)
= 𝑥 =

12 − 6

6
= 1 

6x-12 

X= (3,-8) Punto mínimo 

X= (1,-4) Punto máximo  

Crece (-∞,1) u (3, ∞) 

Decrece (1,3) 

 
3.  𝑓(𝑥) = 𝑥4 − 8𝑥2 + 16 

(𝑥2) 2 − 8𝑥2 + 16 

𝑢2 − 8𝑢 + 16 = 𝑢2 − 8𝑢 + 42 = 2𝑎𝑏 = 2 ∗ 𝑢 ∗ −4 

2𝑎𝑏 = −8𝑢 = (𝑢 − 4)2 

(𝑥2 − 4)2 = (𝑥 + 2)2(𝑥 − 2)2 



 
Decrece (∞,-a) u (0, 2) 

Crece (-2, 0) (2,∞) 

Punto máximo (0,16) 

Punto mínimo (-2, 0) (2, 0) 

 


